Math. J. Okayama Univ. 64 (2022), 191-213

# ON HOOK FORMULAS FOR CYLINDRIC SKEW DIAGRAMS 

Takeshi Suzuki and Yoshitaka Toyosawa


#### Abstract

We present a conjectural hook formula concerning the number of the standard tableaux on "cylindric" skew diagrams. Our formula can be seen as an extension of Naruse's hook formula for skew diagrams. Moreover, we prove our conjecture in some special cases.


## 1. Introduction

The hook formula gives the number of standard tableaux on Young diagrams and it was discovered in 1950's [FRT]. A generalization of the hook formula to skew diagrams was obtained relatively recently in [Nar], where Naruse gave the following formula by introducing excited diagrams.

Theorem 1.1 (Naruse [Nar]). Let $\lambda$ and $\mu$ be partitions with $\lambda \supset \mu$ and $|\lambda / \mu|=n$. Then the number $f^{\lambda / \mu}$ of standard tableaux on the skew diagram $\lambda / \mu$ is given by

$$
\begin{equation*}
f^{\lambda / \mu}=n!\sum_{D \in \mathcal{E}_{\lambda}(\mu)} \prod_{x \in \lambda \backslash D} \frac{1}{h_{\lambda}(x)} \tag{1.1}
\end{equation*}
$$

where $\mathcal{E}_{\lambda}(\mu)$ denotes the set of all excited diagrams of $\mu$ in $\lambda$, and $h_{\lambda}(x)$ denotes the hook length at $x$.

For example, for the partitions $\lambda=(2,2)$ and $\mu=(1,0)$, the formula leads

$$
2=3!\left(\frac{1}{2 \cdot 2 \cdot 1}+\frac{1}{3 \cdot 2 \cdot 2}\right)
$$

(See Figure眐) Several proofs and generalization have been known. Morales,

| 3 | 2 |
| :--- | :--- |
| 2 | 1 |


| 3 | 2 |
| :--- | :--- |
| 2 | 1 |

Figure 1. The excited diagrams of $\mu=(1,0)$ in $\lambda=(2,2)$.
Here, the number in each cell expresses the hook length.
Pak and Panova gave a $q$-analogue of the skew hook formula ([MPP]). Naruse and Okada generalized the skew hook formula to the case where Young diagrams are replaced by general $d$-complete posets ([ $[\mathbf{N O}]$ ).

In this paper, we will treat periodic or cylindric analogue of skew diagrams ([GK, Pos] ) and standard tableaux on them.

Let $\omega \in \mathbb{Z}_{\geqq 1} \times \mathbb{Z}_{\leqq-1}$. A periodic skew diagram of period $\omega$ is a skew diagram consisting of infinitely many cells which is invariant under the parallel translation by $\omega$. We will define a standard tableau on a periodic skew diagram as a periodic array of natural numbers whose entries increase in row and column directions. (See Section 3 for precise definition.)

Figure $\boxtimes$ indicates the periodic diagram

$$
\hat{\lambda} / \hat{\mu}=\lambda / \mu+\mathbb{Z} \omega=\{u+k \omega \mid u \in \lambda / \mu, k \in \mathbb{Z}\}
$$

of period $\omega=(2,-2)$ associated with the partitions $\lambda=(3,1), \mu=(0,0)$, and two standard tableaux on it. (In this case, these two tableaux exhaust all the periodic standard tableaux.)


Figure 2.
The image of a periodic skew diagram of period $\omega$ under the projection $\pi: \mathbb{Z}^{2} \rightarrow \mathbb{Z}^{2} / \mathbb{Z} \omega$ is called a cylindric skew diagram. The set of standard tableaux on a periodic skew diagram can be identified with the set of standard tableaux on the corresponding cylindric skew diagram.

We remark that the cylinder $\mathbb{Z}^{2} / \mathbb{Z} \omega$ has a poset structure induced from that of $\mathbb{Z}^{2}$, and cylindric skew diagrams can be seen as $d$-complete posets consisting of infinitely many cells (cf. [Str]]).

We also note that periodic/cylindric skew diagrams parameterize a certain class of irreducible modules over the Cherednik algebras (double affine Hecke algebras) ([SV, Suz]) and the (degenerate) affine Hecke algebras [KIe, [Rutt]) of type $A$, and cylindric standard tableaux also appear in those theories.

We will introduce excited diagrams for periodic skew diagrams, and present a conjectural hook formula (Conjecture 5.5) concerning the number of periodic standard tableaux on a periodic skew diagram. The formula in Conjecture 5.5 looks similar to Naruse's skew hook formula, but for periodic skew
diagrams, there are infinitely many excited diagrams in general and the right hand side is an infinite sum. For example, in the case where $\lambda=(2), \mu=(0)$ and $m=\ell=1$, our hook formula leads

$$
1=2!\left(\frac{1}{1 \cdot 3}+\frac{1}{3 \cdot 5}+\frac{1}{5 \cdot 7}+\cdots\right)
$$

We will prove that our conjecture is correct in the following cases (Theorem 5.8 and 5.4 ):

- (bar case) $\lambda=(n), \mu=(0)$ and $\omega=(1,-\ell)$.
- (hook case) $\lambda=(\overbrace{\ell+1, \ldots, \ell+1}^{m}), \mu=(\overbrace{\ell, \ldots, \ell}^{m-1}, 0)$ and $\omega=(m,-\ell)$.

Acknowledgments. We thank H. Tagawa for suggesting us a formula which leads a proof of Theorem [5.8. We also thank K. Nakada for discussion and valuable comments.

## 2. Cylindric diagrams

For $\omega \in \mathbb{Z}_{\geqq 1} \times \mathbb{Z}_{\leqq-1}$, we let $\mathbb{Z} \omega$ denote the subgroup of (the additive group) $\mathbb{Z}^{2}$ generated by $\omega$, and define

$$
\mathcal{C}_{\omega}=\mathbb{Z}^{2} / \mathbb{Z} \omega
$$

We regard $\mathbb{Z}^{2}$ as a poset with the following partial order

$$
(a, b) \leq\left(a^{\prime}, b^{\prime}\right) \Longleftrightarrow a \geqq a^{\prime} \text { and } b \geqq b^{\prime} \text { as integers. }
$$

Then, the cylinder $\mathcal{C}_{\omega}$ admits an induced poset structure, namely,

$$
x \leq y \Longleftrightarrow \exists \widetilde{x}, \widetilde{y} \in \mathbb{Z}^{2} \text { such that } \pi(\widetilde{x})=x, \pi(\widetilde{y})=y \text { and } \widetilde{x} \leq \widetilde{y}
$$

where $\pi: \mathbb{Z}^{2} \rightarrow \mathcal{C}_{\omega}$ is the natural projection. Note that the projection $\pi$ is order preserving.

Definition 2.1. Let $(P, \leq)$ be a poset. A subset $F$ of $P$ is called an order filter if the following condition holds:

$$
x \in F, x \leq y \Rightarrow y \in F
$$

An order filter $F$ is said to be non-trivial if $F \neq \emptyset$ nor $F \neq P$.
Definition 2.2. Let $\omega \in \mathbb{Z}_{\geqq 1} \times \mathbb{Z}_{\leqq-1}$. A non-trivial order filter $\theta$ of $\mathcal{C}_{\omega}$ is called a cylindric diagram. The inverse image $\pi^{-1}(\theta) \subset \mathbb{Z}^{2}$ is called a periodic diagram of period $\omega$. An element of a cylindric/periodic diagram is called a cell.

For a poset $P$ and its order filter $F$, we denote by $P / F$ the set difference $P \backslash F$.

Note that a cylindric (resp. periodic) diagram $\theta$ is a poset and its order filter $\eta$ is a cylindric (resp. periodic) diagram such that $\eta \subset \theta$.

Definition 2.3. For a cylindric (resp. periodic) diagram $\theta$ and its order filter $\eta$, the set difference $\theta / \eta$ is called a cylindric (resp. periodic) skew diagram.

We sometimes parameterize periodic/cylindric diagrams by $\ell$-restricted partitions:
Definition 2.4. Let $m, \ell \in \mathbb{Z}_{\geqq 1}$. An non-increasing integer sequence $\lambda=$ $\left(\lambda_{1}, \ldots, \lambda_{m}\right)$ is called a generalized partition of length $m$, and it is said to be $\ell$-restricted if it satisfies

$$
\lambda_{1}-\lambda_{m} \leqq \ell
$$

We denote by $\mathcal{P}_{m, \ell}$ the set of $\ell$-restricted generalized partitions of length $m$. (Note that we allow $\lambda_{i}$ to be negative).

For a generalized partition $\lambda=\left(\lambda_{1}, \ldots, \lambda_{m}\right)$, we define

$$
\begin{aligned}
& \boldsymbol{\lambda}=\left\{(a, b) \in \mathbb{Z}^{2} \mid 1 \leqq a \leqq m, b \leqq \lambda_{a}\right\} \\
& \hat{\lambda}=\hat{\lambda}_{(m,-\ell)}=\boldsymbol{\lambda}+\mathbb{Z}(m,-\ell), \\
& \dot{\lambda}=\grave{\lambda}_{(m,-\ell)}=\pi(\hat{\lambda}) .
\end{aligned}
$$

Note that $\boldsymbol{\lambda}=\hat{\lambda} \cap([1, m] \times \mathbb{Z})$ and $\lambda$ is a fundamental domain of $\hat{\lambda}$ with respect to the action of $\mathbb{Z}(m,-\ell)$ (see Figure $\mathbb{B})$.

It is easy to see that if $\lambda \in \mathcal{P}_{m, \ell}$ then $\hat{\lambda}$ is a periodic diagram of pe-$\operatorname{riod}(m,-\ell)$ and $\grave{\lambda}$ is a cylindric diagram. Moreover, any periodic (resp. cylindric) diagram of period $(m,-\ell)$ is of the form $\hat{\lambda}$ (resp. $\pi(\hat{\lambda})$ ) for some $\lambda \in \mathcal{P}_{m, \ell}$.

For generalized partitions $\lambda=\left(\lambda_{1}, \ldots, \lambda_{m}\right)$ and $\mu=\left(\mu_{1}, \ldots, \mu_{m}\right)$, we write $\lambda \supset \mu$ if $\lambda_{i} \geqq \mu_{i}$ for all $i$ with $1 \leqq i \leqq m$. For $\lambda \supset \mu$, the set difference $\boldsymbol{\lambda} / \boldsymbol{\mu}$ is an ordinary skew diagram associated with $\lambda$ and $\mu$, which is denoted also by $\lambda / \mu$.

## 3. Linear extensions

For two integers $a, b$, we use the following notation:

$$
[a, b]=\{x \in \mathbb{Z} \mid a \leqq x \leqq b\}
$$

Definition 3.1. For a poset $P$ such that $|P|=n$, a linear extension (or a reverse standard tableau) of $P$ is a bijection $\varepsilon: P \rightarrow[1, n]$ satisfying

$$
x<y \Longrightarrow \varepsilon(x)<\varepsilon(y)
$$



Figure 3. The periodic diagram of period $(4,-4)$ associate with $\lambda=(5,4,4,2)$.

Let $\operatorname{RST}(P)$ denote the set of all linear extensions of $P$.
Let $\lambda$ and $\mu$ be generalized partitions such that $\lambda \supset \mu$ and $|\lambda / \mu|=n$. It is easy to see that a bijection $\varepsilon: \lambda / \mu \rightarrow[1, n]$ is a linear extension on the finite skew diagram $\lambda / \mu$ if and only if the following conditions hold:
(1) $\varepsilon(a, b)>\varepsilon(a, b+1)$ whenever $(a, b),(a, b+1) \in \lambda / \mu$.
(2) $\varepsilon(a, b)>\varepsilon(a+1, b)$ whenever $(a, b),(a+1, b) \in \lambda / \mu$.

Fix $m, \ell \in \mathbb{Z}_{\geqq 1}$.
Definition 3.2. Let $\lambda, \mu \in \mathcal{P}_{m, \ell}$. A linear extension $\varepsilon$ on $\lambda / \mu$ is said to be $\ell$-restricted if it satisfies

$$
\varepsilon(1, b)<\varepsilon(m, b-\ell) \text { whenever }(1, b),(m, b-\ell) \in \lambda / \mu \text {. }
$$

We denote by $\operatorname{RST}_{\ell}(\lambda / \mu)$ the set of all $\ell$-restricted linear extensions of $\lambda / \mu$.

Note that the projection $\pi: \mathbb{Z}^{2} \rightarrow \mathcal{C}_{\omega}$ gives a bijection $\lambda / \mu \rightarrow \pi(\lambda / \mu)=$ $\grave{\lambda} / \stackrel{\circ}{\mu}$ and that a map $\varepsilon: \lambda / \mu \rightarrow[1, n]$ induces a map $\varepsilon: \grave{\lambda} / \stackrel{\mu}{\mu} \rightarrow[1, n]$.

Lemma 3.3. Let $\lambda, \mu \in \mathcal{P}_{m, \ell}$. A bijection $\varepsilon: \lambda / \mu \rightarrow[1, n]$ induces a linear extension on the cylindric skew diagram $\lambda / \dot{\mu}$ if and only if $\varepsilon \in \operatorname{RST}_{\ell}(\lambda / \mu)$. Namely, the set $\operatorname{RST}(\grave{\lambda} / \stackrel{\mu}{\mu})$ and $\operatorname{RST}_{\ell}(\lambda / \mu)$ are in one to one correspondence.

$\qquad$
Figure 4. Two maps from $\grave{\lambda} / \dot{\mu}$ to $\{1,2,3,4,5\}$ with $\lambda=$ $(4,2), \mu=(1,0)$ and $\ell=2$. The left is a linear extension, but the right is not a linear extension.

## 4. Excited diagrams

In this section, we fix $\ell, m \in \mathbb{Z}_{\geqq 1}$.
Definition 4.1. Let $\lambda$ and $\mu$ be two partitions such that $\lambda \supset \mu$.
(1) Let $D$ be a subset of $\lambda$. A cell $x=(a, b) \in D$ is said to be $D$-active if

$$
(a+1, b),(a, b+1), \quad(a+1, b+1) \in \lambda \backslash D
$$

(2) For a $D$-active cell $x=(a, b)$, we put

$$
D_{x}=(D \backslash\{x\}) \cup\{y\},
$$

where $y=(a+1, b+1)$. The replacement from $D$ to $D_{x}$ is called an elementary excitation at $x$.

(3) An excited diagram of $\mu$ in $\lambda$ is a subset of $\lambda$ obtained from $\mu$ after a sequence of elementary excitations on active cells. Let $\mathcal{E}_{\lambda}(\mu)$ denote the set of all excited diagrams of $\mu$ in $\lambda$.

We extend the concept of excited diagrams to the case of cylindric/periodic diagrams.

Let $\lambda$ and $\mu$ be two $\ell$-restricted partitions of length $m$ such that $\lambda \supset \mu$. Put $\omega=(m,-\ell)$.

Definition 4.2. (1) Let $D$ be a "periodic" subset of $\hat{\lambda}$ (i.e., $D+\omega=D$ ).
A cell $(a, b) \in D$ is said to be $D$-active if

$$
(a+1, b),(a, b+1),(a+1, b+1) \in \hat{\lambda} \backslash D
$$

(2) For a $D$-active cell $(a, b)$, put

$$
D_{(a, b)}:=D \backslash((a, b)+\mathbb{Z} \omega) \cup((a+1, b+1)+\mathbb{Z} \omega) .
$$

The replacement from $D$ to $D_{(a, b)}$ is called a periodic elementary excitation (see Figure 國).
(3) A periodic excited diagram of $\hat{\mu}$ in $\hat{\lambda}$ is a subset of $\hat{\lambda}$ obtained from $\hat{\mu}$ after a sequence of periodic elementary excitations on active cells, and the whole set is denoted by $\mathcal{E}_{\hat{\lambda}}(\hat{\mu})$.
Remark 4.3. It is easy to see that if $x \in D$ is $D$-active then $x+k \omega$ is also $D$-active for any $k \in \mathbb{Z}$ and $D_{x}$ is periodic.
Definition 4.4. (1) Let $D$ be a subset of the cylindric diagram $\grave{\lambda}$. A cell $x=\pi(a, b) \in D$ is said to be $D$-active if $(a, b)$ is $\pi^{-1}(D)$-active as a cell in $\hat{\lambda}$.
(2) For a $D$-active cell $x=\pi(a, b)$, put $D_{x}=(D \backslash\{x\}) \cup\{y\}$, where $y=$ $\pi(a+1, b+1)$. The replacement from $D$ to $D_{x}$ is called a cylindric elementary excitation.
(3) A cylindric excited diagram of $\dot{\mu}$ in $\dot{\lambda}$ is a subset of $\dot{\lambda}$ obtained from $\dot{\mu}$ after a sequence of cylindric elementary excitations on active cells, and the whole set is denoted by $\mathcal{E}_{\dot{\lambda}}(\stackrel{\ell}{\mu})$.
Note that we have $\mathcal{E}_{\grave{\lambda}}(\stackrel{\mu}{\mu})=\left\{\pi(D) \mid D \in \mathcal{E}_{\hat{\lambda}}(\hat{\mu})\right\}$.
5. Conjectural hook formula for cylindric skew diagrams

Definition 5.1. Let $\lambda$ be a partition. For a cell $x$ of the corresponding finite Young diagram $\lambda$, the hook $H_{\lambda}(x)$ of $x$ in $\lambda$ is given by

$$
H_{\lambda}(x)=\lambda \cap\left(\left\{x+(k, 0) \mid k \in \mathbb{Z}_{\geqq 0}\right\} \cup\left\{x+(0, k) \mid k \in \mathbb{Z}_{\geqq 1}\right\}\right)
$$

and the hook length $h_{\lambda}(x)$ is the number of cells of $H_{\lambda}(x)$.
Fix $m, \ell \in \mathbb{Z}_{\geqq 1}$ and put $\omega=(m,-\ell)$.
Definition 5.2. Let $\lambda \in \mathcal{P}_{m, \ell}$. For a cell $x \in \hat{\lambda}$, define the hook $H_{\hat{\lambda}}(x)$ of $x$ in $\hat{\lambda}$ by

$$
H_{\hat{\lambda}}(x)=\hat{\lambda} \cap\left(\left\{x+(k, 0) \mid k \in \mathbb{Z}_{\geqq 0}\right\} \cup\left\{x+(0, k) \mid k \in \mathbb{Z}_{\geqq 1}\right\}\right)
$$

The number $h_{\hat{\lambda}}(x)$ of cells of $H_{\hat{\lambda}}(x)$ is called the hook length in $\hat{\lambda}$ (see Figure (6).

Definition 5.3. For a cell $x \in \grave{\lambda}$, define

$$
h_{\grave{\lambda}}(x):=h_{\hat{\lambda}}(y),
$$

where $y \in \pi^{-1}(x)$.


Figure 5. A periodic elementary excitation.

Note that $h_{\hat{\lambda}}(x)$ is well-defined since

$$
h_{\hat{\lambda}}(y+\omega)=h_{\hat{\lambda}}(y) .
$$

For a skew diagram $\lambda / \mu$, we denote by $f^{\lambda / \mu}$ the number of linear extensions of $\lambda / \mu$ :

$$
f^{\lambda / \mu}=|\operatorname{RST}(\lambda / \mu)| .
$$

Theorem 5.4 ([|Nar]). Let $\lambda$ and $\mu$ be partitions with $\lambda \supset \mu$ and $|\lambda / \mu|=n$. Then,

$$
\begin{equation*}
f^{\lambda / \mu}=n!\sum_{D \in \mathcal{E}_{\lambda}(\mu)} \prod_{x \in \lambda \backslash D} \frac{1}{h_{\lambda}(x)}, \tag{5.1}
\end{equation*}
$$

where $\mathcal{E}_{\lambda}(\mu)$ is the set of all excited diagrams of $\mu$ in $\lambda$, and $h_{\lambda}(x)$ is the hook length of $x$ in $\lambda$.


Figure 6. The hook $H_{\hat{\lambda}}(x)$ of $x$ in the periodic diagram $\hat{\lambda}$.
The hook length $h_{\dot{\lambda}}(\pi(x))=10$.

For a cylindric skew diagram $\grave{\lambda} / \AA$ of period $(m,-\ell)$, we denote by $f^{\circ / \mu}$ the number of linear extensions of $\lambda / \mu$ :

$$
f^{\grave{\lambda} / \mu}=|\operatorname{RST}(\grave{\lambda} / \stackrel{\circ}{\mu})|=\left|\operatorname{RST}_{\ell}(\lambda / \mu)\right| .
$$

Conjecture 5.5. Let $m, \ell \in \mathbb{Z}_{\geqq 1}$ and $\lambda, \mu \in \mathcal{P}_{m, \ell}$ such that $\lambda \supset \mu$. Put $n=|\lambda / \mu|=|\grave{\lambda} / \AA|$. Then,

$$
\begin{equation*}
f^{\AA / \mu}=n!\sum_{D \in \mathcal{E}_{\grave{\lambda}}(\tilde{\mu})} \prod_{x \in \AA \backslash D} \frac{1}{h_{\grave{\lambda}}(x)}, \tag{5.2}
\end{equation*}
$$

where $\mathcal{E}_{\dot{\lambda}}(\dot{\mu})$ is the set of all cylindric excited diagrams of $\dot{\mu}$ in $\dot{\lambda}$, and $h_{\dot{\lambda}}(x)$ is the hook length of $x$ in $\grave{\lambda}$.

Remark 5.6. If $\ell \geqq \lambda_{1}$, then

$$
\begin{gathered}
\mathcal{E}_{\grave{\lambda}}(\grave{\mu})=\mathcal{E}_{\lambda}(\mu), \\
h_{\grave{\lambda}}(\pi(x))=h_{\lambda}(x),
\end{gathered}
$$

and hence Conjecture 5.5 follows from Theorem 5.4.
Example 5.7. Let us see the simplest non-trivial example. Let $\lambda=(2)$, $\mu=(0) \in \mathcal{P}_{1,1}$. Then $\grave{\lambda} / \stackrel{\circ}{\mu}$ has just one linear extension.

The hook length on fundamental domain of $\lambda$ are as follows:


The excited diagrams of $\grave{\mu}$ in $\grave{\lambda}$ are as follows:


Therefore, by computing the right hand side of (5.2),

$$
\begin{aligned}
f^{\AA / \stackrel{ }{\mu}} & =2!\left(\frac{1}{1 \cdot 3}+\frac{1}{3 \cdot 5}+\frac{1}{5 \cdot 7}+\frac{1}{7 \cdot 9}+\cdots\right) \\
& =2!\cdot \sum_{k=0}^{\infty} \frac{1}{(2 k+1)(2 k+3)} \\
& =2!\cdot \frac{1}{2} \cdot \sum_{k=0}^{\infty}\left(\frac{1}{2 k+1}-\frac{1}{2 k+3}\right)=1 .
\end{aligned}
$$

By similar case by case compilation, we have confirmed Conjecture 5.5 for any shape with $n \leqq 4$.

In the rest, we denote the right hand side of (5.2) by $g^{\circ / \mu}$ :

$$
g^{\AA / \stackrel{\Lambda}{\lambda}}=n!\sum_{D \in \mathcal{E}_{\grave{\lambda}}(\tilde{\mu})} \prod_{x \in \AA \backslash D} \frac{1}{h_{\grave{\lambda}}(x)}
$$

The proofs for the following two theorems will be given in the later sections:

Theorem 5.8. (Bar cases) Let $n, \ell \in \mathbb{Z}_{\geqq 1}$. Put $\lambda=(n)$ and $\mu=(0)$, which belong to $\mathcal{P}_{1, \ell}$, and let $\grave{\lambda}=\grave{\lambda}_{(1,-\ell)}$ and $\dot{\mu}=\dot{\mu}_{(1,-\ell)}$ be the corresponding cylindric diagrams. Then

$$
\begin{equation*}
f^{\grave{\lambda} / \grave{\mu}}=1=g^{\grave{\lambda} / \dot{\mu}} \tag{5.3}
\end{equation*}
$$

Theorem 5.9. (Hook cases) Let $\ell, m \in \mathbb{Z}_{\geqq 1}$. Put $\lambda=\left((\ell+1)^{m}\right)$ and $\mu=\left(\ell^{m-1}, 0\right)$, which belong to $\mathcal{P}_{m, \ell}$, and let $\grave{\lambda}=\AA_{(m,-\ell)}$ and $\stackrel{\circ}{\mu}=\AA_{(m,-\ell)}$ be the corresponding cylindric diagrams. Then

$$
\begin{equation*}
f^{\AA / \mu}=\binom{\ell+m-2}{m-1}=g^{\grave{\lambda / \mu}} \tag{5.4}
\end{equation*}
$$



Figure 7. The shapes indicated by Theorem 5.8 and 5.9 , respectively.
It is easy to see the following:
Proposition 5.10. Let $m, \ell \in \mathbb{Z}_{\geqq 1}$ and $\lambda, \mu \in \mathcal{P}_{m, \ell}$ with $\lambda \supset \mu$. For $u \in \mathbb{Z}^{2}$, put

$$
\grave{\eta}=\pi(\hat{\lambda}+u), \quad \stackrel{\circ}{\nu}=\pi(\hat{\mu}+u) .
$$

Then $\grave{\eta}$ and $\dot{\nu}$ are cylindric diagrams in $\mathbb{Z}^{2} / \mathbb{Z}(m,-\ell)$, and

$$
f^{\AA / \mu}=f^{\grave{\eta} / \grave{\nu}}, \quad g^{\grave{\lambda} / \dot{\mu}}=g^{\grave{\eta} / \dot{\nu}} .
$$

By Proposition 5. T0, Theorem 5. 5 implies that Conjecture 5.5 is also true for $\lambda=\left(\ell+1,1^{m-1}\right)$ and $\mu=\left(0^{m}\right)$.

## 6. Proof of Theorem 5.8

Fix $\ell \geqq 1$ and $n \geqq 1$. Let $\lambda=(n), \mu=(0), \stackrel{\AA}{\lambda}=\dot{\lambda}_{(1,-\ell)}$ and $\dot{\mu}=\dot{\mu}_{(1,-\ell)}$.
The cylindric skew diagram $\grave{\lambda} / \stackrel{\circ}{\mu}$ has a unique linear extension, in which $1,2, \ldots, n$ are arranged in order from right to left. Hence the first equality in Theorem 5.8 holds:

$$
f^{\grave{\lambda} / \mathscr{\mu}}=1
$$

We will show $g^{\grave{\lambda} / \dot{\mu}}=1$ in the rest of this section.
For $i \in \mathbb{Z}_{\geqq 1}$, we denote the cell $\pi(n-i+1,1)$ by $p_{i}$. Note that for a subset $D$ of $\grave{\lambda}$, a cell $p_{i}$ is $D$-active if and only if

$$
p_{i} \in D \text { and } p_{i-1}, p_{i-\ell}, p_{i-\ell-1} \in \grave{\lambda} \backslash D
$$

and hence


Take $q, r \in \mathbb{Z}$ such that

$$
\begin{equation*}
n=(\ell+1) q+r, \quad q \geqq 0, \quad 0 \leqq r \leqq \ell . \tag{6.1}
\end{equation*}
$$

Put

$$
\mathcal{E}_{\ell ; n}:=\left\{\left(i_{1}, \ldots, i_{q}\right) \in \mathbb{Z}^{q} \mid i_{1} \geqq r+1, i_{k+1}-i_{k} \geqq \ell+1(1 \leqq k \leqq q-1)\right\}
$$

For $\left(i_{1}, \ldots, i_{q}\right) \in \mathcal{E}_{\ell ; n}$, define

$$
\psi\left(i_{1}, \ldots, i_{q}\right)=\grave{\lambda} \backslash\left(\left[p_{1}, p_{r}\right] \sqcup\left(\bigsqcup_{k=1}^{q}\left[p_{i_{k}}, p_{i_{k}+\ell}\right]\right)\right),
$$

where $\left[p_{i}, p_{j}\right]=\left\{p_{i}, p_{i+1}, \ldots, p_{j}\right\} \subset \grave{\lambda}$ for $i \leqq j$ and $\left[p_{i}, p_{j}\right]=\emptyset$ for $i>j$.
Proposition 6.1. The map $\psi$ gives a bijection from $\mathcal{E}_{\ell ; n}$ to $\mathcal{E}_{\dot{\lambda}}(\dot{\mu})$.
Proof. First, we show that $\psi\left(i_{1}, \ldots, i_{q}\right) \in \mathcal{E}_{\dot{\lambda}}(\dot{\mu})$. We proceed by induction on

$$
M=\sum_{k=1}^{q} i_{k} .
$$

The number $M$ takes the minimum value

$$
M_{\min }:=\frac{1}{2} q(q-1)(\ell+1)+q(r+1)
$$

when $i_{1}=r+1, i_{2}=(\ell+1)+r+1, \ldots, i_{q}=(q-1)(\ell+1)+r+1$. For such $\left(i_{1}, \ldots, i_{q}\right)$, we have

$$
\psi\left(i_{1}, \ldots, i_{q}\right)=\dot{\mu} \in \mathcal{E}_{\dot{\lambda}}(\dot{\mu})
$$

Let $M>M_{\min }$ and suppose that $\psi\left(i_{1}, \ldots, i_{q}\right) \in \mathcal{E}_{\dot{\lambda}}(\stackrel{\circ}{\mu})$ for all $\left(i_{1}, \ldots, i_{q}\right) \in$ $\mathcal{E}_{\ell ; n}$ such that $\sum_{k=1}^{q} i_{k} \leqq M-1$. Take $\boldsymbol{i}=\left(i_{1}, \ldots, i_{q}\right) \in \mathcal{E}_{\ell ; n}$ with $\sum_{k=1}^{q} i_{k}=$ M. As $M>M_{\text {min }}$, there exists $g \in[2, q+1]$ such that $i_{g}-i_{g-1}>\ell+1$ (we consider " $i_{q+1}=+\infty$ "). For such $g$, we have $\left(i_{1}, \ldots, i_{g}-1, \ldots, i_{q}\right) \in$ $\mathcal{E}_{\ell ; n}$. Put $D=\psi\left(i_{1}, \ldots, i_{g}-1, \ldots, i_{q}\right)$. By induction hypothesis, $D \in$ $\mathcal{E}_{\dot{\lambda}}(\dot{\mu})$. Now $p_{i_{g}+\ell} \in D$. Note that $\left[p_{i_{g}-1}, p_{i_{g}-1+\ell}\right] \subset i \backslash D$. In particular, $p_{i_{g}-1}, p_{i_{g}}, p_{i_{g}+\ell-1} \in \grave{\lambda} \backslash D$, and hence the cell $p_{i_{g}+\ell}$ is $D$-active. Hence

$$
D_{p_{i_{g}+\ell}}=\left(D \backslash\left\{p_{i_{g}+\ell}\right\}\right) \cup\left\{p_{i_{g}-1}\right\}=\psi\left(i_{1}, \ldots, i_{g}, \ldots, i_{q}\right) \in \mathcal{E}_{\dot{\lambda}}(\stackrel{\mu}{\mu})
$$

Next, we show that the map $\psi$ is surjective (injectivity is obvious). It is obvious that $\dot{\mu}=\psi\left(i_{1}, \ldots, i_{q}\right)$ as $i_{k}=(\ell+1)(k-1)+r$. Take $D \in \mathcal{E}_{\grave{\lambda}}(\dot{\mu})$. Suppose that there exists $\left(i_{1}, \ldots, i_{q}\right) \in \mathcal{E}_{\ell ; n}$ such that $D=\psi\left(i_{1}, \ldots, i_{q}\right)$. Any $D$-active cell is of the form $p_{i_{g}+\ell+1}$ for some $g \in[1, q]$ such that $i_{g+1}-i_{g}>$ $\ell+1$. Since $i_{g+1}-i_{g}>\ell+1,\left(i_{1}, \ldots, i_{g}+1, \ldots, i_{q}\right) \in \mathcal{E}_{\ell ; n}$. We have

$$
D_{p_{i_{g}+\ell+1}}=\psi\left(i_{1}, \ldots, i_{g}+1, \ldots, i_{q}\right) \in \mathcal{E}_{\dot{\lambda}}(\stackrel{\circ}{\mu})
$$

Hence $\psi$ is surjective.
We will use the following lemma, which was suggested by H. Tagawa.
Lemma 6.2. Let $\ell, c, q \in \mathbb{Z}_{\geqq 1}, r \in \mathbb{Z}_{\geqq 0}$ and let $\left(a_{i}\right)_{i \geqq 1}$ be a numerical sequence such that

- $a_{i} \neq 0$ for all $i \geqq 1$,
- $\lim _{i \rightarrow \infty} a_{i}=+\infty$,
- $a_{i+\ell}-a_{i}=c$ for all $i \geqq 1$.

Then

$$
\begin{equation*}
\sum_{\substack{\left(i_{1}, \ldots, i_{q}\right) ; \\ i_{1} \geqq r+1 \\ i_{k+1}-i_{k} \geqq \ell+1(k=1,2, \ldots, q-1)}} \frac{1}{\prod_{v=1}^{q} \prod_{u=0}^{\ell} a_{i_{v}+u}}=\frac{1}{q!c^{q} \prod_{u=0}^{\ell q-1} a_{r+1+u}} . \tag{6.2}
\end{equation*}
$$

Proof. By assumption, for $j, t \in \mathbb{Z}_{\geqq 1}$, we have

$$
\begin{equation*}
\frac{1}{\prod_{u=0}^{\ell t-1} a_{j+u}}-\frac{1}{\prod_{u=1}^{\ell t} a_{j+u}}=\frac{a_{j+\ell t}-a_{j}}{\prod_{u=0}^{\ell t} a_{j+u}}=\frac{c t}{\prod_{u=0}^{\ell t} a_{j+u}} \tag{6.3}
\end{equation*}
$$

We proceed by induction on $q$ to prove ( $[.2)$.

If $q=1$, then we have

$$
\begin{aligned}
\sum_{i_{1}=r+1}^{\infty} \frac{1}{\prod_{u=0}^{\ell} a_{i_{1}+u}} & =\frac{1}{c} \sum_{i_{1}=r+1}^{\infty} \frac{c}{\prod_{u=0}^{\ell} a_{i_{1}+u}} \\
& \left.=\frac{1}{c} \sum_{i_{1}=r+1}^{\infty}\left(\frac{1}{\prod_{u=0}^{\ell-1} a_{i_{1}+u}}-\frac{1}{\prod_{u=1}^{\ell} a_{i_{1}+u}}\right) \quad(\text { by }(\overline{6} .3))\right) \\
& =\frac{1}{c} \sum_{i_{1}=r+1}^{\infty}\left(\frac{1}{\prod_{u=0}^{\ell-1} a_{i_{1}+u}}-\frac{1}{\prod_{u=0}^{\ell-1} a_{i_{1}+1+u}}\right) \\
& =\frac{1}{c} \lim _{N \rightarrow \infty} \sum_{i_{1}=r+1}^{N}\left(\frac{1}{\prod_{u=0}^{\ell-1} a_{i_{1}+u}}-\frac{1}{\prod_{u=0}^{\ell-1} a_{i_{1}+1+u}}\right) \\
& =\frac{1}{c \prod_{u=0}^{\ell-1} a_{r+1+u}}-\lim _{N \rightarrow \infty} \frac{1}{c \prod_{u=0}^{\ell-1} a_{N+1+u}} \\
& =\frac{1}{c \prod_{u=0}^{\ell-1} a_{r+1+u}} .
\end{aligned}
$$

Suppose $q>1$. We have

$$
\begin{aligned}
& \sum_{\substack{\left(i_{1}, \ldots, i_{q}\right) ; \\
i_{1} \geq r+1}} \frac{1}{\prod_{v=1}^{q} \prod_{u=0}^{\ell} a_{i_{v}+u}} \\
& i_{k+1}-i_{k} \geqq \ell+1 \quad(k=1,2, \ldots, q-1)
\end{aligned}
$$

$$
\begin{aligned}
& =\sum_{i_{1}=r+1}^{\infty} \frac{1}{\prod_{u=0}^{\ell} a_{i_{1}+u}} \cdot \frac{1}{(q-1)!c^{q-1} \prod_{u=0}^{\ell(q-1)-1} a_{i_{1}+\ell+1+u}}
\end{aligned}
$$

(by induction hypothesis)

$$
\begin{aligned}
& =\frac{1}{(q-1)!c^{q-1}} \sum_{i_{1}=r+1}^{\infty} \frac{1}{\prod_{u=0}^{\ell q} a_{i_{1}+u}} \\
& =\frac{1}{q!c^{q}} \sum_{i_{1}=r+1}^{\infty}\left(\frac{1}{\prod_{u=0}^{\ell q-1} a_{i_{1}+u}}-\frac{1}{\prod_{u=1}^{\ell q} a_{i_{1}+u}}\right) \quad(\mathrm{by}(6.3)) \\
& =\frac{1}{q!c^{q} \prod_{u=0}^{\ell q-1} a_{r+1+u}} .
\end{aligned}
$$

This completes the proof.
The hook length for each cell $p_{i}$ is

$$
h_{\grave{\lambda}}\left(p_{\ell t+j}\right)=(\ell+1) t+j \text { for } t \in \mathbb{Z}_{\geqq 0}, j=1,2, \ldots, \ell
$$

Put $h_{i}:=h_{\dot{\lambda}}\left(p_{i}\right)$. By Proposition [.].], we have

$$
g^{\grave{\lambda} / \grave{\mu}}=\frac{n!}{\prod_{i=1}^{r} h_{i}} \times \sum_{\left(i_{1}, \ldots, i_{q}\right) \in \mathcal{E}_{\ell ; n}} \frac{1}{\prod_{v=1}^{q} \prod_{u=0}^{\ell} h_{i_{v}+u}}
$$

By applying Lemma 6.2 with $a_{i}=h_{i}, c=\ell+1$ and $q, r$ as in ( (\%.]), we have

$$
\begin{aligned}
n!/ g^{\grave{\lambda} / \stackrel{\mu}{2}}= & q!(\ell+1)^{q} \prod_{u=1}^{\ell q+r} h_{u} \\
= & \left(\prod_{k=0}^{q-1}\left((\ell+1)(k+1) \prod_{j=1}^{\ell} h_{\ell k+j}\right)\right) h_{\ell q+1} h_{\ell q+2} \cdots h_{\ell q+r} \\
= & \prod_{k=0}^{q-1}(((\ell+1) k+1)((\ell+1) k+2) \cdots((\ell+1) k+\ell)((\ell+1)(k+1))) \\
& \times((\ell+1) q+1)((\ell+1) q+2) \cdots((\ell+1) q+r) \\
= & ((\ell+1) q)!((\ell+1) q+1)((\ell+1) q+2) \cdots((\ell+1) q+r) \\
= & ((\ell+1) q+r)!=n!.
\end{aligned}
$$

Therefore $g^{\grave{\lambda} / \grave{\mu}}=1$ and Theorem 5.8 has been proved.

## 7. Proof of Theorem 5.9]

Let $\ell, m \in \mathbb{Z}_{\geqq 1}$ and let $\lambda=\left((\ell+1)^{m}\right), \mu=\left(\ell^{m-1}, 0\right), \stackrel{\circ}{\lambda}=\dot{\lambda}_{(m,-\ell)}$ and $\stackrel{\circ}{\mu}=\dot{\mu}_{(m,-\ell)}$. Put $n=|\lambda / \mu|=\ell+m$. Any $\ell$-restricted linear extension $\varepsilon$ of $\lambda / \mu$ satisfies

$$
\varepsilon^{-1}(1)=(m, \ell+1), \quad \varepsilon^{-1}(n)=(m, 1)
$$

Hence $\varepsilon$ is uniquely determined by choosing ( $m-1$ ) vertical components from [2, n-1]. By Lemma [3.3, the first equality in Theorem 5.9 holds:

$$
f^{\AA / \mu}=\binom{n-2}{m-1}=\binom{\ell+m-2}{m-1} .
$$

We will prove the second equality

$$
g^{\grave{\lambda} / \check{\mu}}=\binom{\ell+m-2}{m-1}
$$

in the rest of this section.
For $u, v \in \mathbb{Z}^{2}$, we write $u \rightarrow v$ if $v-u=(1,0)$ or $(0,-1)$.

Definition 7.1. For $u=(a, b), v=(c, d) \in \mathbb{Z}^{2}$ with $a<c$ and $b>d$, a subset

$$
\mathfrak{p}=\left\{u=u_{1}, u_{2}, \ldots, u_{r}=v\right\}
$$

of $\mathbb{Z}^{2}$ is called a lattice path from $u$ to $v$ if

$$
u_{1} \rightarrow u_{2} \rightarrow \cdots \rightarrow u_{r}
$$

and the whole set is denoted by $\mathcal{L}(u, v)$.
Let $m, \ell \in \mathbb{Z}_{\geq 1}$ and let $\pi$ denote the natural projection $\mathbb{Z}^{2} \rightarrow \mathbb{Z}^{2} / \mathbb{Z}(m,-\ell)=$ $\mathcal{C}_{(m,-\ell)}$ as before. For $u, v \in \mathcal{C}_{(m,-\ell)}$, we write $u \rightarrow v$ if there exist $\widetilde{u} \in \pi^{-1}(u)$ and $\widetilde{v} \in \pi^{-1}(v)$ such that $\widetilde{u} \rightarrow \widetilde{v}$.

Definition 7.2. A subset

$$
\mathfrak{p}=\left\{u_{1}, u_{2}, \ldots, u_{n}\right\}
$$

of $\mathcal{C}_{(m,-\ell)}$ is called a non-intersecting loop in $\mathcal{C}_{(m,-\ell)}$ if $n=\ell+m$ and

$$
u_{1} \rightarrow u_{2} \rightarrow \cdots \rightarrow u_{n-1} \rightarrow u_{n} \rightarrow u_{1}
$$

The whole set of non-intersecting loops is denoted by $\dot{\mathcal{L}}$.
Let $\lambda=\left(\lambda_{1}, \ldots, \lambda_{m}\right) \in \mathcal{P}_{m, \ell}$ and let $\boldsymbol{\lambda}$ denote the semi-infinite diagram

$$
\boldsymbol{\lambda}=\left\{(a, b) \in \mathbb{Z}^{2} \mid 1 \leqq a \leqq m, b \leqq \lambda_{a}\right\}
$$

as before. Note that $\boldsymbol{\lambda}$ is in one-to-one correspondence with the cylindric diagram $\grave{\lambda}$ via the projection $\pi$.

Define

$$
\begin{aligned}
\mathcal{L}_{\lambda}(u, v) & =\{\mathfrak{p} \in \mathcal{L}(u, v) \mid \mathfrak{p} \subset \boldsymbol{\lambda}\} \quad(u, v \in \boldsymbol{\lambda}) \\
\stackrel{\mathcal{L}}{\lambda} & =\{\mathfrak{p} \in \dot{\mathcal{L}} \mid \mathfrak{p} \subset \grave{\lambda}\}
\end{aligned}
$$

Lemma 7.3. Let $\lambda=\left(\lambda_{1}, \ldots, \lambda_{m}\right) \in \mathcal{P}_{m, \ell}$. Then the projection $\pi$ induces a bijection

$$
\bigsqcup_{i=0}^{\infty} \mathcal{L}_{\lambda}\left(\left(1, \lambda_{1}-i\right),\left(m, \lambda_{1}-\ell-i\right)\right) \xrightarrow{\cong} \stackrel{\circ}{\mathcal{L}}_{\lambda}
$$

Proof. For a lattice path $\mathfrak{p} \in \mathcal{L}_{\lambda}\left(\left(1, \lambda_{1}-i\right),\left(m, \lambda_{1}-\ell-i\right)\right)$, it is clear that $\pi(\mathfrak{p}) \in \stackrel{\circ}{\mathcal{L}}_{\lambda}$. The inverse map is given by $\mathfrak{p} \mapsto \pi^{-1}(\mathfrak{p}) \cap \boldsymbol{\lambda}$.

Now, we return to the special case where $\lambda=\left((\ell+1)^{m}\right)$. In this case, we have

$$
\begin{equation*}
\mathcal{L}_{\lambda}(u, v)=\mathcal{L}(u, v) \tag{7.1}
\end{equation*}
$$

for all $u, v \in \boldsymbol{\lambda}$.

Proposition 7.4. Let $\ell, m \in \mathbb{Z}_{\geqq 1}$ and $\lambda=\left((\ell+1)^{m}\right) \in \mathcal{P}_{m, \ell}$.
(1) Let $k \in[0, \ell]$ and let $\nu^{(k)}=\left(\ell^{m-1}, k\right) \in \mathcal{P}_{m, \ell}$. Then the correspondence $\mathfrak{p} \mapsto \lambda \backslash \mathfrak{p}$ gives a bijection

$$
\mathcal{L}((1, \ell+1),(m, k+1)) \xrightarrow{\cong} \mathcal{E}_{\lambda}\left(\nu^{(k)}\right) .
$$

(2) Let $\mu=\left(\ell^{m-1}, 0\right) \in \mathcal{P}_{m, \ell}$. Then the correspondence $\mathfrak{p} \mapsto \lambda \backslash \mathfrak{p}$ gives a bijection

$$
\dot{\mathcal{L}}_{\lambda} \stackrel{\cong}{\Longrightarrow} \mathcal{E}_{\dot{\lambda}}(\dot{\mu}) .
$$

Proof. (1) We write $\mathcal{L}=\mathcal{L}((1, \ell+1),(m, k+1))$ and $\nu=\nu^{(k)}$ in this proof.
Put $\psi(\mathfrak{p})=\lambda \backslash \mathfrak{p}$. We will prove $\psi(\mathfrak{p})$ is contained in $\mathcal{E}_{\lambda}(\nu)$ by induction on

$$
r(\mathfrak{p}):=\#\{x \in \boldsymbol{\lambda} \mid x \nsupseteq y \text { for any } y \in \mathfrak{p}\},
$$

which is the number of cells in $\boldsymbol{\lambda}$ located to the right of $\mathfrak{p}$. If $r(\mathfrak{p})=0$, then $\psi(\mathfrak{p})=\nu \in \mathcal{E}_{\lambda}(\nu)$.

Let $\mathfrak{p} \in \mathcal{L}$ with $r(\mathfrak{p}) \geqq 1$ and suppose that $\psi(\mathfrak{q}) \in \mathcal{E}_{\lambda}(\nu)$ for any $\mathfrak{q} \in \mathcal{L}$ such that $r(\mathfrak{q})<r(\mathfrak{p})$. There exists $y=(a, b) \in \lambda \backslash \mathfrak{p}$ such that

$$
(a, b-1),(a-1, b), x=(a-1, b-1) \in \mathfrak{p} .
$$

Now $\mathfrak{p}^{\prime}:=(\mathfrak{p} \backslash\{x\}) \cup\{y\}$ is a lattice path with $r\left(\mathfrak{p}^{\prime}\right)=r(\mathfrak{p})-1$ and hence $\psi\left(\mathfrak{p}^{\prime}\right) \in \mathcal{E}_{\lambda}(\nu)$. Moreover, $\psi(\mathfrak{p})$ is obtained from $\psi\left(\mathfrak{p}^{\prime}\right)$ by applying the elementary excitation at $x$. This implies $\psi(\mathfrak{p}) \in \mathcal{E}_{\lambda}(\nu)$.


Next, we construct an inverse map. We define $\varphi(D)=\boldsymbol{\lambda} \backslash D$ and will prove that $\varphi(D)$ is contained in $\mathcal{L}$ for all $D \in \mathcal{E}_{\lambda}(\nu)$. For $D=\nu$, we have $\varphi(D)=\lambda / \nu \in \mathcal{L}$. It is easy to see that $\varphi\left(D_{y}\right) \in \mathcal{L}$ for any $\varphi(D)$ and any $D$-active cell $y$. Hence $\varphi(D) \in \mathcal{L}$ for any $D \in \mathcal{E}_{\lambda}(\nu)$. This completes the proof of (1).

The statement (2) is proved by a parallel argument.
 ing:

Corollary 7.5. Let $\ell, m \in \mathbb{Z}_{\geqq 1}$ and $\lambda=\left((\ell+1)^{m}\right), \mu=\left(\ell^{m-1}, 0\right) \in \mathcal{P}_{m, \ell}$. Then the map $\mathfrak{p} \mapsto \grave{\lambda} \backslash \pi(\mathfrak{p})$ gives a bijection

$$
\bigsqcup_{i=0}^{\infty} \mathcal{L}((1, \ell+1-i),(m, 1-i)) \xrightarrow{\cong} \mathcal{E}_{\grave{\lambda}}(\AA)
$$

For $\ell, m \in \mathbb{Z}_{\geqq 1}$ and $x=(a, b) \in \mathbb{Z}^{2}$, define

$$
\begin{equation*}
h_{m, \ell}(x)=\ell+m-a-b+2 . \tag{7.2}
\end{equation*}
$$

Remark that

$$
h_{m, \ell}(x)=h_{\lambda}(x)
$$

for $\lambda=\left((\ell+1)^{m}\right)$ and $x \in \lambda$. For $s \in \mathbb{Z}_{\geqq 1}$, define

$$
\begin{equation*}
F_{(\ell, m ; s)}=\sum_{\mathfrak{p} \in \mathcal{L}((1, \ell+1),(m, 2))} \prod_{x \in \mathfrak{p}} \frac{1}{h_{m, \ell}(x)+s-1} \tag{7.3}
\end{equation*}
$$

Lemma 7.6. Let $\ell, m, s \in \mathbb{Z}_{\geqq 1}$. Then

$$
\begin{equation*}
F_{(\ell, m ; s)}=\frac{(s-1)!}{(\ell+m+s-2)!}\binom{\ell+m-2}{m-1} . \tag{7.4}
\end{equation*}
$$

Proof. We proceed by induction on $s$. If $s=1$, then it follows from Proposition [7.4 (1) with $k=1$ and Theorem 5.4 that

$$
F_{(\ell, m ; 1)}=\sum_{D \in \mathcal{E}_{\lambda}\left(\nu^{(1)}\right)} \prod_{x \in \lambda \backslash D} \frac{1}{h_{\lambda}(x)}=\frac{1}{(\ell+m-1)!}\binom{\ell+m-2}{m-1}
$$

where $\lambda=\left((\ell+1)^{m}\right)$ and $\nu^{(1)}=\left(\ell^{m-1}, 1\right)$, and hence ( $\left.\mathbb{Z . 4}\right)$ holds for all $\ell, m \in \mathbb{Z}_{\geqq 1}$.

Take $s \geqq 1$ and suppose that ([.4) holds for all $\ell, m \in \mathbb{Z}_{\geqq 1}$. Via the bijection

$$
\mathcal{L}((1, \ell+2),(m, 2)) \cong \mathcal{L}((2, \ell+2),(m, 2)) \sqcup \mathcal{L}((1, \ell+1),(m, 2))
$$

we have

$$
F_{(\ell+1, m ; s)}=\frac{1}{h_{m, \ell+1}(1, \ell+2)+s-1}\left(F_{(\ell+1, m-1 ; s)}+F_{(\ell, m ; s+1)}\right)
$$

Using induction hypothesis, we have

$$
\begin{aligned}
F_{(\ell, m ; s+1)} & =\left(h_{m, \ell+1}(1, \ell+2)+s-1\right) F_{(\ell+1, m ; s)}-F_{(\ell+1, m-1 ; s)} \\
& =(m+s-1) \cdot \frac{(s-1)!\binom{\ell+m-1}{m-1}}{(\ell+m+s-1)!}-\frac{(s-1)!\binom{\ell+m-2}{m-2}}{(\ell+m+s-2)!} \\
& =\frac{(s-1)!\binom{\ell+m-2}{m-2}}{(\ell+m+s-2)!}\left(\frac{(m+s-1)(\ell+m-1)}{(\ell+m+s-1)(m-1)}-1\right) \\
& =\frac{(s-1)!\binom{\ell+m-2}{m-2}}{(\ell+m+s-2)!} \cdot \frac{\ell s}{(\ell+m+s-1)(m-1)} \\
& =\frac{s!}{(\ell+m+s-1)!}\binom{\ell+m-2}{m-1} .
\end{aligned}
$$

This completes the induction step.

For $\ell, m, s, t \in \mathbb{Z}_{\geqq 1}$ and $x \in \mathbb{Z}^{2}$, we define

$$
\begin{equation*}
h_{m, \ell}^{s, t}(x)=\ell+m-a-b+(d-c) t+s+1 \tag{7.5}
\end{equation*}
$$

where $x=(a+c m, b-d \ell)$ with $1 \leqq a \leqq m, 2 \leqq b \leqq \ell+1$ and $c, d \geqq 1$. Remark that for $s=1$ and $t=\ell+m$, the number $h_{m, \ell}^{s, \bar{t}}(x)$ gives a cylindric hook length:

$$
\begin{equation*}
h_{m, \ell}^{1, \ell+m}(x)=h_{\grave{\lambda}}(\pi(x)) \tag{7.6}
\end{equation*}
$$

for $\lambda=\left((\ell+1)^{m}\right)$ and $x \in \boldsymbol{\lambda}$. (See Definition 5.3.)
Note also that for any $s, t, a \in \mathbb{Z}_{\geqq 1}$, we have

$$
\begin{equation*}
\lim _{b \rightarrow-\infty} h_{m, \ell}^{s, t}(a, b)=+\infty \tag{7.7}
\end{equation*}
$$

Define

$$
F_{(\ell, m ; s, t)}=\sum_{i=0}^{\infty} \sum_{\mathfrak{p} \in \mathcal{L}((1, \ell+1-i),(m, 1-i))} \prod_{x \in \mathfrak{p}} \frac{1}{h_{m, \ell}^{s, t}(x)}
$$

Lemma 7.7. Let $\ell, m, s, t \in \mathbb{Z}_{\geqq 1}$. Then

$$
\begin{equation*}
F_{(\ell, m ; s, t)}=\frac{1}{t-m+1}\left(F_{(\ell, m ; s)}+F_{(\ell, m-1 ; s+1, t)}-F_{(\ell, m-1 ; s, t)}\right) \tag{7.8}
\end{equation*}
$$

Proof. For $i \geqq 0$, put

$$
d_{i}=\ell+1-i
$$

Fix $\ell, m, s, t$ and write

$$
h(x)=h_{m, \ell}^{s, t}(x)
$$

for a while. We have

$$
\begin{aligned}
& F_{(\ell, m ; s, t)} \\
& =\sum_{i=0}^{\infty} \sum_{0 \leqq k_{1} \leqq \cdots \leqq k_{m-1} \leqq \ell} \frac{1}{\prod_{r=0}^{k_{1}} h\left(1, d_{i}-r\right) \prod_{r=k_{1}}^{k_{2}} h\left(2, d_{i}-r\right) \cdots \prod_{r=k_{m-1}}^{\ell} h\left(m, d_{i}-r\right)}
\end{aligned}
$$

(See Figure $\mathbb{\nabla}$.). Combining with

$$
h(m, 1-i)-h(1, \ell+1-i)=t-m+1,
$$

we have

$$
\begin{aligned}
& F_{(\ell, m ; s, t)}=\frac{1}{t-m+1} \sum_{i=0}^{\infty} \\
& \quad \times \sum_{0 \leqq k_{1} \leqq \cdots \leqq k_{m-1} \leqq \ell}\left(\frac{1}{\prod_{r=0}^{k_{1}} h\left(1, d_{i}-r\right) \prod_{r=k_{1}}^{k_{2}} h\left(2, d_{i}-r\right) \cdots \prod_{r=k_{m-1}}^{\ell-1} h\left(m, d_{i}-r\right)}\right.
\end{aligned}
$$

$$
\begin{aligned}
& \left.\quad-\frac{1}{\prod_{r=1}^{k_{1}} h\left(1, d_{i}-r\right) \prod_{r=k_{1}}^{k_{2}} h\left(2, d_{i}-r\right) \cdots \prod_{r=k_{m-1}}^{\ell} h\left(m, d_{i}-r\right)}\right) \\
& =\frac{1}{t-m+1} \sum_{i=0}^{\infty}\left(A_{i}+B_{i}-C_{i}-D_{i}\right) .
\end{aligned}
$$



Figure 8. An excited diagram for $\grave{\lambda} / \dot{\mu}$ with $\lambda=\left(\ell^{3}\right), \mu=$ $\left((\ell-1)^{2}, 0\right)$.

Here, $A_{i}, B_{i}, C_{i}$ and $D_{i}$ are

$$
\begin{aligned}
A_{i} & =\sum_{0 \leqq k_{1} \leqq \cdots \leqq k_{m-1} \leqq \ell-1} \frac{1}{\prod_{r=0}^{k_{1}} h\left(1, d_{i}-r\right) \prod_{r=k_{1}}^{k_{2}} h\left(2, d_{i}-r\right) \cdots \prod_{r=k_{m-1}}^{\ell-1} h\left(m, d_{i}-r\right)}, \\
B_{i} & =\sum_{0 \leqq k_{1} \leqq \cdots \leqq k_{m-2} \leqq \ell} \frac{1}{\prod_{r=0}^{k_{1}} h\left(1, d_{i}-r\right) \prod_{r=k_{1}}^{k_{2}} h\left(2, d_{i}-r\right) \cdots \prod_{r=k_{m-2}}^{\ell} h\left(m-1, d_{i}-r\right)}, \\
C_{i} & =\sum_{0 \leqq k_{2} \leqq \cdots \leqq k_{m-1} \leqq \ell} \frac{1}{\prod_{r=0}^{k_{2}} h\left(2, d_{i}-r\right) \prod_{r=k_{1}}^{k_{2}} h\left(3, d_{i}-r\right) \cdots \prod_{r=k_{m-1}}^{\ell} h\left(m, d_{i}-r\right)}, \\
D_{i} & =\sum_{1 \leqq k_{1} \leqq \cdots \leqq k_{m-1} \leqq \ell} \frac{1}{\prod_{r=1}^{k_{1}} h\left(1, d_{i}-r\right) \prod_{r=k_{1}}^{k_{2}} h\left(2, d_{i}-r\right) \cdots \prod_{r=k_{m-1}}^{\ell} h\left(m, d_{i}-r\right)} \\
& =A_{i+1} .
\end{aligned}
$$

Now we have

$$
\begin{aligned}
\sum_{i=0}^{\infty} B_{i} & =\sum_{i=0}^{\infty} \sum_{\mathfrak{p} \in \mathcal{L}((1, \ell+1-i),(m-1,1-i))} \prod_{x \in \mathfrak{p}} \frac{1}{h(x)} \\
& =\sum_{i=0}^{\infty} \sum_{\mathfrak{p} \in \mathcal{L}((1, \ell+1-i),(m-1,1-i))} \prod_{x \in \mathfrak{p}} \frac{1}{h_{m-1, \ell}^{s+1, t}(x)}=F_{(\ell, m-1 ; s+1, t)} \\
\sum_{i=0}^{\infty} C_{i} & =\sum_{i=0}^{\infty} \sum_{\mathfrak{p} \in \mathcal{L}((2, \ell+1-i),(m, 1-i))} \prod_{x \in \mathfrak{p}} \frac{1}{h(x)}=F_{(\ell, m-1 ; s, t)} .
\end{aligned}
$$

By using ([.7), we have

$$
\lim _{i \rightarrow \infty} A_{i}=0
$$

and hence

$$
\begin{aligned}
\sum_{i=0}^{\infty}\left(A_{i}-D_{i}\right) & =\sum_{i=0}^{\infty}\left(A_{i}-A_{i+1}\right)=A_{0} \\
& =\sum_{i=0}^{\infty} \sum_{\mathfrak{p} \in \mathcal{L}((1, \ell+1),(m, 2))} \prod_{x \in \mathfrak{p}} \frac{1}{h(x)}=F_{(\ell, m ; s)}
\end{aligned}
$$

Therefore,

$$
F_{(\ell, m ; s, t)}=\frac{1}{t-m+1}\left(F_{(\ell, m ; s)}+F_{(\ell, m-1 ; s+1, t)}-F_{(\ell, m-1 ; s, t)}\right) .
$$

Proposition 7.8. Let $\ell, m, s, t \in \mathbb{Z}_{\geqq 1}$. Then

$$
\begin{equation*}
F_{(\ell, m: s, t)}=\frac{(s-1)!}{(\ell+m+s-2)!t}\binom{\ell+m-2}{m-1} \tag{7.9}
\end{equation*}
$$

Proof. We proceed by induction on $m$. If $m=1$, then putting $d_{i}=\ell+1-i$, we have

$$
\begin{aligned}
F_{(\ell, 1 ; s, t)} & =\sum_{i=0} \frac{1}{\prod_{k=0}^{\ell} h_{1, \ell}^{s, t}\left(1, d_{i}-k\right)} \\
& =\frac{1}{t} \sum_{i=0}\left(\frac{1}{\prod_{k=0}^{\ell-1} h_{1, \ell}^{s, t}\left(1, d_{i}-k\right)}-\frac{1}{\prod_{k=1}^{\ell} h_{1, \ell}^{s, t}\left(1, d_{i}-k\right)}\right) \\
& =\frac{1}{t} \frac{1}{\prod_{k=0}^{\ell-1} h_{1, \ell}^{s, t}(1, \ell+1-k)} \quad(\text { by }(\mathbb{Z . 7})) \\
& =\frac{1}{t} \cdot \frac{1}{s(s+1) \cdots(s+\ell-1)}
\end{aligned}
$$

for any $\ell, s, t \in \mathbb{Z}_{\geqq 1}$. This proves ( $\left.\mathbb{K Q}\right)$ when $m=1$.
Let $m>1$ and suppose that

$$
\begin{equation*}
F_{(\ell, m-1: s, t)}=\frac{(s-1)!}{(\ell+(m-1)+s-2)!t}\binom{\ell+(m-1)-2}{m-2} \tag{7.10}
\end{equation*}
$$

for all $\ell, s, t$. By Lemma [.7, we have

$$
\begin{aligned}
& F_{(\ell, m ; s, t)}=\frac{1}{t-m+1}\left(F_{(\ell, m ; s)}+F_{(\ell, m-1 ; s+1, t)}-F_{(\ell, m-1 ; s, t)}\right) \\
& =\frac{1}{t-m+1}\left(\frac{(s-1)!\binom{\ell+m-2}{m-1}}{(\ell+m+s-2)!}+\frac{s!\binom{\ell+m-3}{m-2}}{(\ell+m+s-2)!t}-\frac{(s-1)!\binom{\ell+m-3}{m-2}}{(\ell+m+s-3)!t}\right)
\end{aligned}
$$

(by Lemma 7.6 and induction hypothesis)

$$
\begin{aligned}
& =\frac{(s-1)!\binom{\ell+m-3}{m-2}}{(\ell+m+s-3)!(t-m+1)}\left(\frac{\ell+m-2}{(m-1)(\ell+m+s-2)}+\frac{s}{(\ell+m+s-2) t}-\frac{1}{t}\right) \\
& =\frac{(s-1)!}{(\ell+m+s-3)!(t-m+1)}\binom{\ell+m-3}{m-2} \cdot \frac{(\ell+m-2)(t-m+1)}{(m-1)(\ell+m+s-2) t} \\
& =\frac{(s-1)!}{(\ell+m+s-2)!t}\binom{\ell+m-2}{m-1} .
\end{aligned}
$$

## We have proved Proposition [7.8.

Finally, by applying Corollary [7.5 and Proposition [7.8 with $s=1$ and $t=\ell+m=n$, we obtain

$$
\begin{aligned}
g^{\grave{\lambda} / \stackrel{\mu}{\mu}} & =n!\sum_{D \in \mathcal{E}_{\grave{\lambda}}(\tilde{\mu})} \prod_{x \in \grave{\lambda} \backslash D} \frac{1}{h_{\grave{\lambda}}(x)} \\
& =n!\sum_{i=0}^{\infty} \sum_{\mathfrak{p} \in \mathcal{L}((1, n-m+1-i),(m, 1-i))} \prod_{x \in \mathfrak{p}} \frac{1}{h_{m, \ell}^{1, \ell+m}(x)} \\
& =n!\cdot F_{(\ell, m ; 1, \ell+m)} \\
& =n!\cdot \frac{1}{(\ell+m-1)!(\ell+m)}\binom{\ell+m-2}{m-1} \\
& =\binom{\ell+m-2}{m-1} .
\end{aligned}
$$

This completes the proof of Theorem 5.9.

## References

[FRT] J. S. Frame, G. de B. Robinson, and R. M. Thrall, The hook graphs of symmetric groups, Canad. J. Math., 6:316-324 (1954)
[GK] I. M. Gessel and C. Krattenthaler, Cylindric partitions, Trans. Amer. Math. Soc. 394 (1997) No. 2, 429-479.
[Kle] A. Kleshchev Completely splittable representations of symmetric groups, J. Algebra 2 vol 181 (1996), 584-592.
[MPP] A. H. Morales, I. Pak and G. Panova, Hook formulas for skew shapes I. q-analigues and bijections, J. Combin. Theory Ser. A (2018) 154:350-405
[Nar] H. Naruse, Schubert calculus and hook formula, talk slides at 73rd Sém. Lothar. Combin., Strobl, Austria, 2014, available at http://www.mat.univie.ac.at/~slc/wpapers/s73vortrag/naruse.pdf
[NO] H. Naruse, S. Okada, Skew hook formula for d-complete posets, Alg. Comb., Vol.2, No. 4 (2019) 541-571
[Pos] A. Postnikov, Affine Approch to Quantum Schubert Calculus, Duke Math J. 128 No. 3 (2005), 473-509.
[Ruff] O. Ruff, Completely splittable representations of symmetric groups and affine Hecke algebras, J. Algebra 2 vol 305, (2006), 1197-1211.
[Str] M. C. Strayer, Classifications of $\Gamma$-colored d-complete posets and upper $P$-minuscule Borel representations, Electron. J. Combin., 28, No. 1 (2021)
[Suz] T. Suzuki, Rational and trigonometric degeneration of double affine Hecke algebras of type A, Int. Math. Res. Not. 37 (2005), 2249-2262.
[SV] T. Suzuki and M. Vazirani, Tableaux on periodic skew diagrams and irreducible representations of the degenerate double affine Hecke algebras of type A, Int. Math. Res. Not. 27 (2005), 1621-1656.

Takeshi Suzuki
Department of Mathematics, Faculty of Science Okayama University, Japan
e-mail address: suzuki@math.okayama-u.ac.jp
Yoshitaka Toyosawa
Graduate School of Natural Science and Technology
Okayama University, Japan
e-mail address: prkr5rq9@s.okayama-u.ac.jp
(Received June 23, 2021)
(Accepted August 2, 2021)

